

FINANCE DEPARTMENT/MATERIALS MANAGEMENT

IFB NAME: PALM TREE TRIMMING

SERVICES IFB NO.: 15-16

IFB NO.: 15-16 DUE DATE: June 26, 2014 CONTRACT ANALYST: Elmer Garcia			ARTISTIC LAND MANAGEMENT, INC.		CREATIVE TREE CARE, LLC		UNITED RIGHT OF WAY		WEST COAST ARBORISTS, INC.	
ITEM NO.	DESCRIPTION/LOCATION OF TREES	ESTIMATED QUANTITY (A)	UNIT PRICE * (B)	EXTENDED PRICE (A X B)	UNIT PRICE * (B)	EXTENDED PRICE (A X B)	UNIT PRICE (B)	EXTENDED PRICE (A X B)	UNIT PRICE (B)	EXTENDED PRICE (A X B)
5.1	59th Ave. median, north of Mohawk	1	\$46.00	\$46.00	\$39.00	\$39.00	\$45.00	\$45.00	\$29.00	\$29.00
5.2	Union Hills medians, 67th Ave. to 75th Ave.	10	\$60.00	\$600.00	\$32.50	\$325.00	\$45.00	\$450.00	\$29.00	\$290.00
5.3	75th Ave. medians, Union Hills to Beardsley	20	\$60.00	\$1,200.00	\$32.50	\$650.00	\$45.00	\$900.00	\$29.00	\$580.00
5.4	Union Hills medians, 59th Ave. to 67th Ave.	31	\$46.00	\$1,426.00	\$39.00	\$1,209.00	\$45.00	\$1,395.00	\$29.00	\$899.00
5.5	Union Hills medians, 51st Ave. to 59th Ave.	24	\$46.00	\$1,104.00	\$39.00	\$936.00	\$45.00	\$1,080.00	\$29.00	\$696.00
5.6	59th Ave. medians, Utopia to Beardsley	14	\$46.00	\$644.00	\$32.50	\$455.00	\$45.00	\$630.00	\$29.00	\$406.00
5.7	59th Ave., east side, Grovers to Michigan	9	\$46.00	\$414.00	\$32.50	\$292.50	\$45.00	\$405.00	\$29.00	\$261.00
5.8	79th Ave. & Union Hills, SE corner	3	\$48.00	\$144.00	\$39.00	\$117.00	\$45.00	\$135.00	\$29.00	\$87.00
5.9	59th Ave., west side, Country Gables to Calavar	29	\$46.00	\$1,334.00	\$32.50	\$942.50	\$45.00	\$1,305.00	\$29.00	\$841.00
5.10	67th Ave. & Port Au Prince	10	\$46.00	\$460.00	\$32.50	\$325.00	\$45.00	\$450.00	\$29.00	\$290.00
5.11	59th Ave., east side, southbound from Crocus	4	\$45.00	\$180.00	\$32.50	\$130.00	\$45.00	\$180.00	\$29.00	\$116.00
5.12	59th Ave., west side, Sweetwater to Cactus	28	\$46.00	\$1,288.00	\$32.50	\$910.00	\$45.00	\$1,260.00	\$29.00	\$812.00
5.13	59th Ave., west side, northbound from Sweetwater	9	\$45.00	\$405.00	\$32.50	\$292.50	\$45.00	\$405.00	\$29.00	\$261.00
5.14	57th Ave. & Marshall Ranch Drive	2	\$45.00	\$90.00	\$32.50	\$65.00	\$45.00	\$90.00	\$29.00	\$58.00
5.15	Peoria Ave. medians, 61st Ave. to 63rd Ave.	2	\$45.00	\$90.00	\$39.00	\$78.00	\$45.00	\$90.00	\$29.00	\$58.00
5.16	59th Ave., west side, Sunnyside to Mercer	26	\$45.00	\$1,170.00	\$32.50	\$845.00	\$45.00	\$1,170.00	\$29.00	\$754.00
	Cholla, south side, 60th Ave. to 61st Ave.	11	\$45.00	\$495.00	\$32.50	\$357.50	\$45.00	\$495.00	\$29.00	\$319.00
5.18	Sierra, south side, westbound from 51st Ave.	6	\$45.00	\$270.00	\$32.50	\$195.00	\$45.00	\$270.00	\$29.00	\$174.00
5.19	Peoria Ave. medians, 55th Ave. to 59th Ave.	5	\$45.00	\$225.00	\$39.00	\$195.00	\$45.00	\$225.00	\$29.00	\$145.00
5.20	59th Ave., east side, Desert Cove to Cactus	39	\$45.00	\$1,755.00	\$32.50	\$1,267.50	\$45.00	\$1,755.00	\$29.00	\$1,131.00
5.21	55th Ave., west side, southbound from Cactus	3	\$45.00	\$135.00	\$32.50	\$97.50	\$45.00	\$135.00	\$29.00	\$87.00
5.22	59th Ave., west side, southbound from Peoria	8	\$45.00	\$360.00	\$36.56	\$292.50	\$45.00	\$360.00	\$29.00	\$232.00
5.23	63rd Ave. & Olive, northwest corner	1	\$45.00	\$45.00	\$39.00	\$39.00	\$45.00	\$45.00	\$29.00	\$29.00



FINANCE DEPARTMENT/MATERIALS MANAGEMENT

IFB NAME: PALM TREE TRIMMING

SERVICES IFB NO.: 15-16

CREATIVE TREE ARTISTIC LAND **UNITED RIGHT OF WEST COAST DUE DATE: June 26, 2014** MANAGEMENT, INC. CARE, LLC ARBORISTS, INC. WAY **CONTRACT ANALYST: Elmer Garcia** \$45.00 61st Ave. & Peoria, south side 1 \$45.00 \$32.50 \$45.00 \$45.00 \$29.00 \$32.50 \$29.00 67th Ave. & Northern, southeast \$32.50 \$29.00 5.25 corner 4 \$45.00 \$180.00 \$130.00 \$45.00 \$180.00 \$116.00 51st Ave., west side, south of 5.26 Northern to Orangewood \$45.00 \$1,530.00 \$32.50 \$1,105.00 \$45.00 \$1,530.00 \$29.00 \$986.00 34 Orangewood, north side, 51st Ave. to 55th Ave. \$40.00 \$39.00 \$936.00 \$1,080.00 \$29.00 \$696.00 5 27 24 \$960.00 \$45.00 55th Ave., east side, Belmont to 5 28 Northern 20 \$45.00 \$900.00 \$32.50 \$650.00 \$45.00 \$900.00 \$29.00 \$580.00 Northern, south side, 53rd Ave. 5.29 to 55th Ave 16 \$45.00 \$720.00 \$32.50 \$520.00 \$45.00 \$720.00 \$29.00 \$464.00 55th Ave. & Northern, southwest 5.30 corner 3 \$45.00 \$135.00 \$39.00 \$117.00 \$45.00 \$135.00 \$29.00 \$87.00 55th Ave. & Palmaire \$45.00 \$32.50 \$45.00 \$29.00 \$145.00 5 \$225.00 \$162.50 \$225.00 59th Ave., west side, Glendale 5.32 to Bethany 39 \$46.00 \$1,794.00 \$39.00 \$1,521.00 \$45.00 \$1,755.00 \$29.00 \$1,131.00 59th Ave., east side, Bethany to 5.33 Glendale 26 \$45.00 \$1,170.00 \$34.62 \$900.00 \$45.00 \$1,170.00 \$29.00 \$754.00 5.34 6829 North 57th Ave. 1 \$45.00 \$45.00 \$32.50 \$32.50 \$45.00 \$45.00 \$29.00 \$29.00 59th Ave. medians, Bethany to 5 35 Glendale 7 \$45.00 \$315.00 \$39.00 \$273.00 \$45.00 \$315.00 \$29.00 \$203.00 North side of Northern, east of 45th Ave. 5.36 \$45.00 \$32.50 \$29.00 \$29.00 1 \$45.00 \$32.50 \$45.00 \$45.00 Butler, south side, 47th Ave. to 5.37 49th Ave. 18 \$46.00 \$828.00 \$32.50 \$585.00 \$45.00 \$810.00 \$29.00 \$522.00 45th Ave. & Loma, circle median just west of 45th Ave. on Loma 5.38 2 \$45.00 \$90.00 \$39.00 \$78.00 \$45.00 \$90.00 \$29.00 \$58.00 47th Ave. & Northern, southeast \$45.00 \$32.50 \$65.00 \$45.00 corner 2 \$90.00 \$90.00 \$29.00 \$58.00 5.39 51st Ave. & Northern, southeast 5.40 2 \$45.00 \$90.00 \$32.50 \$65.00 \$45.00 \$90.00 \$29.00 \$58.00 corner 47th Ave., both sides, Glendale to Orangewood 59 \$47.00 \$32.50 \$1,917.50 \$45.00 \$2,655.00 \$29.00 5.41 \$2,773.00 \$1,711.00 47th Ave. & Rose Lane, 5.42 southwest corner 7 \$45.00 \$315.00 \$32.50 \$227.50 \$45.00 \$315.00 \$29.00 \$203.00 45th Ave., east side, south of Glendale 5 43 \$45.00 \$45.00 \$32.50 \$32.50 \$45.00 \$45.00 \$29.00 \$29.00 1 59th Ave., east side, Camelback to Montebello 29 \$46.00 \$39.00 \$1,131.00 \$45.00 \$1,305.00 \$841.00 \$1,334.00 \$29.00 59th Ave. medians. Camelback 5.45 to Bethany 12 \$46.00 \$552.00 \$39.00 \$468.00 \$45.00 \$540.00 \$29.00 \$348.00 59th Ave., west side, Bethany to 5.46 Camelback 28 \$46.00 \$1,288.00 \$39.00 \$1,092.00 \$45.00 \$1,260.00 \$29.00 \$812.00 43rd Ave., west side, at Grand **5.47** Ave. 23 \$45.00 \$1,035.00 \$39.00 \$897.00 \$45.00 \$1,035.00 \$29.00 \$667.00



FINANCE DEPARTMENT/MATERIALS MANAGEMENT

IFB NAME: PALM TREE TRIMMING

SERVICES IFB NO.: 15-16

IFB NO.: 15-16 DUE DATE: June 26, 2014 CONTRACT ANALYST: Elmer Garcia			ARTISTIC LAND MANAGEMENT, INC.		CREATIVE TREE CARE, LLC		UNITED RIGHT OF WAY		WEST COAST ARBORISTS, INC.	
5.48	79th Ave., east side, north & south of Palmaire	2	\$45.00	\$90.00	\$32.50	\$65.00	\$45.00	\$90.00	\$29.00	\$58.00
5.49	Glen Harbor Blvd., south of Glendale, west side	3	\$45.00	\$135.00	\$39.00	\$117.00	\$45.00	\$135.00	\$29.00	\$87.00
5.50	Glen Harbor Blvd., south of Glendale, east side	4	\$45.00	\$180.00	\$32.50	\$130.00	\$45.00	\$180.00	\$29.00	\$116.00
5.51	Glendale Ave., south side, east of 77th Lane	1	\$45.00	\$45.00	\$32.50	\$32.50	\$45.00	\$45.00	\$29.00	\$29.00
5.52	67th Ave. & Glendale medians	6	\$46.00	\$276.00	\$39.00	\$234.00	\$45.00	\$270.00	\$29.00	\$174.00
5.53	Glendale Ave. medians, 67th Ave. to 75th Ave.	44	\$46.00	\$2,024.00	\$39.00	\$1,716.00	\$45.00	\$1,980.00	\$29.00	\$1,276.00
5.54	Glendale Ave. medians, 75th Ave. to 83rd Ave.	23	\$46.00	\$1,058.00	\$39.00	\$897.00	\$45.00	\$1,035.00	\$29.00	\$667.00
5.55	Glendale Ave. medians, 83rd Ave. to 91st Ave.	25	\$46.00	\$1,150.00	\$39.00	\$975.00	\$45.00	\$1,125.00	\$29.00	\$725.00
5.56	Camelback & 85th Ave., northwest corner & northeast corner	5	\$45.00	\$225.00	\$32.50	\$162.50	\$45.00	\$225.00	\$29.00	\$145.00
5.57	Emerald Point 83rd Ave. east side, Georgia to Missouri Missouri, south side, 79th -3rd Avenues 81st Ave., both sides, Missouri to south of Colter	15	\$45.00	\$675.00	\$32.50	\$487.50	\$45.00	\$675.00	\$29.00	\$435.00
5.58	Solano Drive, north side, 65th Ave. to 67th Ave.	3	\$45.00	\$135.00	\$32.50	\$97.50	\$45.00	\$135.00	\$29.00	\$87.00
5.59	Glendale Ave., north side, 52nd Ave. to 54th Ave.	3	\$45.00	\$135.00	\$32.50	\$97.50	\$45.00	\$135.00	\$29.00	\$87.00
5.60	Glendale Ave., south side, 51st to 55th Avenues	8	\$45.00	\$360.00	\$32.50	\$260.00	\$45.00	\$360.00	\$29.00	\$232.00
5.61	Glendale Ave., north side, 43rd to 51st Avenues	95	\$50.00	\$4,750.00	\$32.50	\$3,087.50	\$45.00	\$4,275.00	\$29.00	\$2,755.00
5.62	Glendale Ave., south side, 43rd to 51st Avenues	90	\$50.00	\$4,500.00	\$32.50	\$2,925.00	\$45.00	\$4,050.00	\$29.00	\$2,610.00
5.63	67th Ave., west side, Missouri to Medlock	2	\$45.00	\$90.00	\$32.50	\$65.00	\$45.00	\$90.00	\$29.00	\$58.00
5.64	Camelback, north side, 68th to 73rd Avenues	1	\$45.00	\$45.00	\$32.50	\$32.50	\$45.00	\$45.00	\$29.00	\$29.00
5.65	Camelback median, west of 67th Ave.	2	\$45.00	\$90.00	\$39.00	\$78.00	\$45.00	\$90.00	\$29.00	\$58.00
5.66	67th Ave. median, north of Camelback Road	2	\$45.00	\$90.00	\$39.00	\$78.00	\$45.00	\$90.00	\$29.00	\$58.00
JOBING .COM										
5.67	By Lake, 93rd to 95th Avenues	34	\$46.00	\$1,564.00	\$39.00	\$1,326.00	\$45.00	\$1,530.00	\$29.00	\$986.00
5.68	Glendale Ave. medians, 93rd Ave. to Loop 101	22	\$46.00	\$1,012.00	\$39.00	\$858.00	\$45.00	\$990.00	\$29.00	\$638.00



FINANCE DEPARTMENT/MATERIALS MANAGEMENT

IFB NAME: PALM TREE TRIMMING

SERVICES IFB NO.: 15-16

IFB NO.: 15-16 DUE DATE: June 26, 2014 CONTRACT ANALYST: Elmer Garcia		ARTISTIC LAND MANAGEMENT, INC.		CREATIVE TREE CARE, LLC		UNITED RIGHT OF WAY		WEST COAST ARBORISTS, INC.		
5.69	95th Ave. medians, Glendale to Maryland	50	\$46.00	\$2,300.00	\$39.00	\$1,950.00	\$45.00	\$2,250.00	\$29.00	\$1,450.00
5.70	93rd Ave. medians, Maryland to Glendale Ave.	69	\$46.00	\$3,174.00	\$39.00	\$2,691.00	\$45.00	\$3,105.00	\$29.00	\$2,001.00
5.71	Coyote Blvd. medians, 91st - 93rd Avenues	5	\$46.00	\$230.00	\$39.00	\$195.00	\$45.00	\$225.00	\$29.00	\$145.00
5.72	91st Ave. & Coyote Blvd., northwest corner	8	\$46.00	\$368.00	\$39.00	\$312.00	\$45.00	\$360.00	\$29.00	\$232.00
5.73	93rd Ave. & Coyote Blvd., northwest corner	5	\$46.00	\$230.00	\$39.00	\$195.00	\$45.00	\$225.00	\$29.00	\$145.00
5.74	95th Ave. & Hanna Dr., northeast corner	6	\$46.00	\$276.00	\$39.00	\$234.00	\$45.00	\$270.00	\$29.00	\$174.00
5.75	93rd Ave. & Hanna Dr., northwest corner	7	\$46.00	\$322.00	\$39.00	\$273.00	\$45.00	\$315.00	\$29.00	\$203.00
5.76	93rd Ave. & Hanna Dr., southwest corner	7	\$46.00	\$322.00	\$39.00	\$273.00	\$45.00	\$315.00	\$29.00	\$203.00
Sub-Total (Items 5.1 thru 5.76)				\$56,235.00		\$42,870.50		\$54,270.00		\$34,974.00
	Additional skinning cost per foot outside of contracted									
5.77	amount	1000	\$8.00	\$8,000.00	\$7.00	\$7,000.00	\$9.00	\$9,000.00	\$10.00	\$10,000.00
Grand Total (Items 5.1 thru 5.77)				\$64,235.00		\$49,870.50		\$63,270.00		\$44,974.00

^{*}Prices offered were extended amounts (Quantities X Unit Prices). Prices were recalculated by Materials Management to reflect the true Unit Price.

AWARD DETERMINATION:

Award is recommended to: WEST COAST ARBORISTS, INC.

The Offeror is deemed the lowest responsible and responsive bidder.